
Polyurethane Braid HOSE  w/ Fitting  or  Quick Coupler

HOSE REEL

 080122

Part No. Q'ty (pc) Part No. Q'ty (pc)

1 1 22 2

2 1 23 2

3 1 24 2

4 1 25 1

5 1 26 4

6 1 27 2

7 1 28 1

8 1 29 1

9 1 30 2

10 1 31 2

11 1 32 2

12 1 33 2

13 1 34 2
14 1 35 2
15 1 36 2
16 1 37 4

17 1 38 2

18 1 39 4

19 1 40 2

20 2 41 1

21 1

Wave Washer

Nylon Shaft

Left Side Body

Mounting Handle

Mounting Bracket

Nut M6*P1.0

Screw D3/16" x 1/2"

Rollers Support

Description Description

Pipe Connection 3/8"PS Guide Hose Roller

Nut Spacer for Roller 

Swivel Joint Hose Rubber Stopper

Washer ID. 1/2" x 24

Nut M6*P1.0

Fitting-SHM 3/8"PS Male

Brass Shell

Spring for Hose

PU Braid Hose for Outlet

Seal UN-12.5 PU

Right Side Body

Nylon Shaft

Fitting-CH 3/8"PT Male

PU Braid Hose for Inlet

Fitting-CH Male

Screw M4*20L

Nut M4*P0.7

Spacer 33*45*3T

C-Shape Retaining Ring

Spring for Hook

Screw M6*20L

Drum Cover

Winder Drum

Screw M5*70L

Nut M5*P0.8
Screw M6*10LCenter Spring

Spring Housing Screw 1/4"x1/2"

Hook  

 080122


